4 ‘ 3 fd 1

THTS DRAWING 15 UNPUBLISHED. [ RELEASED FOR PUBLICATION 20 REVISIONS
(©) copyRiGHT 20 BY - AL RO RESERVED. P LR DESCRIPTION DATE DWN | APVD
111 A INITIAL 05JAN20TS | GY | CW
= = Al ECR-15-004309 24MAR2015 | GY | CW
B ECR-15-013759 26SEP2015 | DW | CW
B ECR-16-011988 27AUG2016 | YC | CW
O
o
“ NOTES :

. TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC
RATED VOLTAGE: 500V

24X M3 SCREW,RECOMMENDED M4 SCREW, RECOMMENDED RATED CURRENT. 16A
TIGHTENING TORQUE 0. 5Nm TIGHTENING TOROUE . 2hm INSULATION RESISTANCE: >=400M()
cAR MIRE, REGRAEO . oNm MARE, AGRAE] . 2Nm RATED IMPULSE VOLTAGE: 6KV
I == POLLUTION DEGREE: 3
FLAMMABILITY: UL94V-0
MATING CYCLES: 500 CYCLES
© WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWGI4)
- e Bl = - CONTACT TYPE: SCREW CLAMP (M3)
(49 = .
oM
ﬁ N AR
| E] | Bk
! whME . PC
4X M3 SCREW,RECOMMENDED sEaE: 500V
TIGHTENING TORQUE 0.5Nm i fEei: | 6A
4% M384, ##sE4%0  SNm ‘ gl >=400M()
| FrpE . 6KV
b€ UL_JT 0T 6178 LI 9ffl gl - AREG 3
5 ‘ i mMs%: UL9IAV-0
)©©)0©00BOLOEX ﬁﬁwﬁzgog"Kzz 5mm2 (AWG20-AWG | 4)
o o T o T o T o= | HLWE .omme~2Z2.omm -
?ﬁ%ﬁm%ﬁm%&eﬁfﬁa&m%?m% BRAR . #B4EE (M3)
Y\ \ &)\ '\ )\ D'\ IS
] 0
1 0l 6 8 L9 § ¥ ¢ 1 -
|
104
5 95 _ 4%5 3.3
TYPE |1,T72040242201-000,WITH LOGO
' 28|, T2040242201-000, #L0GO
-®- | } |
1 IJL
B I
~ - — - - © DWN 15AUGZ20 T4
ou — o THIS DRAWING IS A CONTROLLED DOCUMENT.
| CH%INO YAOW5AUGEOW4 [ ) TE TE COﬂﬂeCMva
! ]r DIMENSIONS: TOLERANCES UNLESS AP%DHRIS WANWGSAUGEOWA NAVE
_é_ | _é_ - OTHERWISE SPECIFIED: X(ANG XU HE*OZA*F
! r 1 0 PLC . PRODUCT SPEC
: e = 108-137044
L 104 4 @Ei Etg i APPLICATION SPEC
PANEL CUT FOR ‘ NSERTS FOR USE iNGPLLECS +- . 1 w47w37044 SI1ZE CAGE CODE | DRAWING NO RESTRICTED TO
WITHQUT HOODS/ HOUSINGS WATERTAL P ETGHT : A 3l00779(C=T2040242201000 -
T by 40t A 0 T FALE S S - =
- - CUSTOMER DRAWING I %5 B

1470-19 (3/13)




4

? |
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 RE\/ISIONS
@ COPYRIGHT 20 BY - AU RIGHTS RESERVED. p LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
D
NOTE :
ALL SPEC REFER TO TYPE |
A
aEERAESRE TYPE |
TYPE 2,7T2040242201-001 ,WITHOUT LOGO
ZA 2 72040242201 -001, & %L OGO
C
5 I‘QI LT 91 _61
HE-024 FEMALE INSERT
T2040242201-000 HE-024-F HE-024 &8 TYPE 1
i i . HE-024 FEMALE INSERT,WITHOUT LOGO
T2040242201-001 HE-024-F HE-024 &8 £L0GO TYPE 2
PART NUMBER PART DESCRIPTION TYPE
B8 # it % 4
THIS DRAWING 1S A CONTROLLED DOCUMENT. |DWN 15AUG2014
CH%INO YAO}{;AUGQQM - TE TE Connectivity
PIMENSTONS: R AP%DHRIS WANWG5AUGEOW4 NAME
mm - LIANG XU HE-024-F
0 PLC 1. PRODUCT SPEC
A @G;Eté i 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 w 47 w 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH WEIGHT - A300779@:T2040242201000 -
- CUSTOMER DRAWING SCALE SHEET OF
1470-19 (3/13)

101

RE\/B W




Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

TE Connectivity:
T2040242201-000



http://www.mouser.com/TE-Connectivity
http://www.mouser.com/access/?pn=T2040242201-000

	Sheet 1
	Views
	new_view_1
	top_2
	bottom_6
	new_view_8
	right_11


	Sheet 2
	Views
	new_view_13
	new_view_14
	top_15
	bottom_16
	right_17



